Aot > Sjg"w, wt{o(l/,?,)

Eﬁ: @ /____.___ _____ = _ﬂe)“:x

I[ (_) 1K 0(0960{ " W\?L, 19%/{ not OFaW'
| a ( o = K= A % opem e AL net T X
! RV ‘
RCHE ) B wet cloecd o A voy in A
& r

R T R DS SR

> ey S

@

closed se,]lS . i

M c 2, € X 15 called @ iy /77‘5 &]ﬁ A C X, ’?é

3 P;f/’ho' ./B(%,e)n,q)\?%o; 4_}'2(
( &> Vé.?o, (B(z.¢) A = oo
3

%Ff '{L\a ”C,(o‘:*bf*’e " :4_; % ” 9&{ A

A=y U ﬁ [?j;-f {jsf

= AV #(/U



ﬂwrn ‘ /4 o C/afé?a/ &2 /] = :4_

—

g ¢ aos : /’____‘_,_,-—’—"' T o |
# 7 a /f = A (=> /é/ﬂ/f CA
¢ ~
A o pew & /(ff 4 e /4 S e e
(=) Ly m{ma&‘fxfw'm/s ) 4f9 A, € A;‘}A Nac
Find ¢ >0 ¢ ¢. B(x., ¢) c 4°

bk Ahew B(a, ) p= o
(i moﬁff/("lv‘a Xo € /‘{/’/4

(&) Exeycise

Exercte . 4 o
————— .

/ ; -1%& ,@/mo%fau% G/esa/ ;ef Gmu-ﬁu}u%d /f

2 . ’f'_[ne. ;rw%@v'éﬁyff Y% % all o/a;le.a{ 5@:f§ Gemfa;w‘,;ﬂa /f

7’2%'(,‘@_{- Lag —=Y (0 ¥.d 0 (. oy )

LU, ey e sey Fof £ ok o

(% ’ﬁ"’ fve v:j h LL 0/ v 0—7@ '/"f??’f.- ) 4"&@;«@ exn ]L S o f‘ifoLn p/ of sn-fﬁ 2,

6.t Pluycv.

Lo
F(L) b/é, >0 35 >0

Gt dx (oo, 2)KS => dy (L), 1)< &
Ei> ’I/{\ ){:j:ﬂe ’

COVL‘]LM(LHV oS cnm MATIST



B

?ﬁ »_

Maf$71 Cep>1, voto(2/2 )

RS C(Eo,!j) : N = R
¢ (Con7) > IR
X y

"o~(

Eladop &

—

Pf£)= £lo2) whuw £ e (o)

?D/ efe



